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 2 ze 15 

1. Doplňte druhou větu 2 až 5 vhodnými slovy včetně tučně vytištěného výrazu uvedeného 

za první větou tak, aby význam první věty zůstal zachován. Tvar daného výrazu 

NESMÍTE měnit. Stažený tvar (isn´t, hasn´t atd.) je považován za 1 slovo. 

Příklad: 

It is more difficult to express some feelings than others.                                        easier 

Some feelings ___are easier to express than ___others. 

 

 

 

 

 

 

 

 

1. Although his leg was broken, he managed to walk up the stairs. fact 

In spite      __________________       his leg was broken, he managed to walk up the stairs.  

 

2. I usually go to work by bus but yesterday I went by train. take  

I usually go to work by bus but yesterday I ________________________train. 

 

3. He will probably not come to work today, I think. likely 

I don’t think ________________________ come to work today. 

  

4. You must work harder. working 

You _______________________ enough. 

  

5. Gilbert loves fish and chips and George loves it too. so 

Gilbert loves fish and chips and __________________ George.  

 

6. This part of the test is not so easy. an 

This part of the test  ______________________________ one. 

 

7. Politics has never interested Donald. interested 

Donald _______________________________________ politics. 

 

8. I think it would be great to take a train. suggest 

I ____________________________________train.  

 

9. Children will lose interest if we do not motivate them more. unless 

Children will lose interest _____________________________ more. 
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10. I last flew by plane two years ago. not 

I _________________________________ by plane for six months.  

 

11. “Do not smoke in the café,” the owner asked his guests politely. not  

The owner asked his guests politely _______________________ in the café.  

 

12. All students must sign the test sheets. be 

The test sheets ___________________________ all students. 

 

13. I am sure this is not him. be 

This _________________________him.  

 

14. The end of the book was truly fascinating. by 

I was __________________________ the end of the book.  

 

15. My first university was so hard that I was not able to finish it. too 

My first university was ________________________________ finish.  

 

16. There are not very many good restaurants in my town. only 

There are ________________________ good restaurants in my town.  

 

17. I am sorry I can’t spend more time with you. wish 

I  ________________________________ spend more time with you. 

 

18. I asked my teacher: “Where did you study before becoming a teacher?” studied 

I asked my teacher ____________________________ before becoming a teacher. 

  

19. I’d rather you did not open the window during the test. mind 

Would you _________________________ the window during the test?  

 

20. I feel OK although I have a cold.  despite 

I feel OK ________________________________ cold. 
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2. Z daných možností vyberte správnou variantu. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď NEBUDE hodnocena. 

Vaše 

odpověď 

 

1. Peter …… driving his car after drinking three beers last night. It was a stupid decision. 

a) regrets          b) comprehends          c) appreciates          d) imagines 

 

2. What time is it? I have no …… . 

a) idea          b) opinion          c) answer          d) fact 

 

3. I think Madonna is a very …… singer, she is the best. 

a) terrified          b) annoying          c) talented          d) difficult 

 

4. I need to finish this book …… Friday. 

a) about          b) by          c) in          d) from 

 

5. I always …… milk in my coffee. 

a) mix          b) drink          c) have          d) make 

 

6. Diamonds are …… , which is probably why they are valuable. 

a) broad          b) flexible          c) talented          d) rare 

 

7. His office is on the second …… of the building. 

a) floor          b) level          c) ground          d) stage 

 

8. We are really stupid – we …… off the train at the wrong station! 

a) took          b) put          c) got          d) stopped 

 

9. Julia and Jane are …… twins. 

a) identical          b) same          c) similar          d) sisterly 

 

10. When it started to rain we went …… a café and waited until it stopped. 

a) on          b) to          c) out          d) from 

 

11. I started learning Polish but then I had to …… it up. I just did not have the time. 

a) stop          b) put          c) do          d) give 

 

12. The doctor gave me a …… for some medicine yesterday. 

a) note          b) prescription          c) recipe          d) receipt 

 

13. I thought Sarah was being very …… in the restaurant – insisting on ordering everything in 

Spanish. The waiter was from Manchester. 

a) pretentious          b) clumsy          c) impatient          d) sceptical 

 

14. Go …… the petrol station, and it is the next turning on the right. 

a) left          b) right          c) past          d) back 

 

15. Skye is a beautiful island off the west …… of Scotland. 

a) edge          b) beach          c) shore          d) coast 

 

  

 

1. ____ 
 

 

2. ____ 

 
3. ____ 

 

 

4. ____ 
 

 

5. ____ 

 

6. ____ 
 

 

7. ____ 
 

 

8. ____ 

 
 

9. ____ 
 

 

10. ____ 
 

 

11. ____ 
 

 

12. ____ 
 

 

13. ____ 
 

 

 

14. ____ 
 

 

15. ____ 
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16.  The …… between the rich and poor countries of the whole world is increasing every day. 

a) space          b) gap          c) distance          d) interval 

 

17. Many people in African villages still know how to make boat out of tree ……  . 

a) roots          b) branches          c) stems          d) trunks 

 

18. We will have to use the stairs because the lift is out of …… . 

a) function          b) work          c) order          d) form 

 

19. Alice liked the jacket, but she did not buy it because it did not ……. the dress she had already 

bought.  

a) suit          b) fit          c) match          d) go 

 

20. Only four people …… the crash. Everyone else was killed. 

a) lived          b) recovered          c) overcame          d) survived 

  

21. In the morning they …… down their tents, packed their backpacks and travelled home. 

a) broke          b) ran          c) let          d) pulled 

 

22. Our new neighbours were …… not to disturb other neighbours after 11 p.m. 

a) appealed          b) postponed          c) delighted          d) requested 

 

23. This boy is sometimes aggressive and therefore only a few people get …… with him. 

a) about          b) through          c) along          d) up 

 

24. Martin Luther King was one of the best-known leaders of the …… rights movement. 

a) social          b) civil          c) effective          d) foreign 

 

25. We must not turn a …… eye to the problems of our friends. We should try to help them. 

a) blind          b) big          c) deaf           d) dry 

 

26. That tall man …… Peter sold his old car to is my colleague. 

a) whose          b) to whom          c) that          d) how 

 

27. Czech high schools offer a wide …… of subjects. 

a) type          b) list          c) range          d) ladder 

 

28. It was difficult to remove my foot as it had stuck …… in the mud. 

a) fairly          b) greatly          c) widely          d) firmly 

 

29. This industrial city is …… for its air pollution. 

a) notorious          b) amazing          c) expressive          d) sensitive 

 

30. I like sitting …… my new schoolmate because he always helps me with mathematics. 

a) besides          b) along          c) at          d) beside 

 

 

 

 

 

16. ____ 
 

 

17. ____ 
 

 

18. ____ 
 

 

19. ____ 
 

 

 

20. ____ 

 
21. ____ 

 

 

22. ____ 
 

 

23. ____ 
 

 

24. ____ 
 

 

25. ____ 
 

 

 

26. ____ 
 

 

27. ____ 
 

 

28. ____ 
 

 

29. ____ 
 

 

30. ____ 
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3. Přečtěte si pečlivě následující text. Některé řádky jsou bez chyby, v jiných je jedna chyba, protože 

obsahují jedno slovo navíc. Je-li řádek bez chyby, napište na patřičné místo vedle řádku nulu (0). 

Obsahuje-li řádek slovo, které tam NESMÍ být, napište tento výraz na patřičné místo vedle řádku a 

rovněž jej v textu PODTRHNĚTE. Řádky 1 a 2 jsou příklady.   
 

 

Roses and Guns (an extract) from As Time Goes By by Michael Walsh 
 
 

1.   Rick had first met Lois ten years earlier, on a summer day in the New                

2.   York, in 1931. He was on a train, riding from his mother’s apartment      

3.   to a downtown store which sold out her favourite Jewish food.  

4.   Rick lived alone and had a number one of jobs. Most of them were                 

5.   not quite legal and didn’t pay well. He dreamed out of running his own        

6.   club one day. Everything about nightlife was attractive to him. He             

7.   came to alive at night: he loved the music, the sound of glasses and          

8.   drinks being poured, the card of games, and the money! He didn’t speak         

9.   much. He wanted of other people to think he was a hard young man. But out                                               

10.  he travelled across the city every week to get his mother to something      

11.  special to eat on the weekend. Opposite him on the train was a very        

12.  pretty young woman, about eighteen of years old. She was the most        

13.  beautiful girl he had ever seen, with a long black hair and white  

14.  skin. It was even more hotter than usual that summer, and, as Rick was     

15.  looking at her, she fainted and fell on the floor. He jumped up to help her.             

16.  It was another kilometre before she opened her eyes. They were the most      

17.  beautiful eyes of pure blue. Rick forgot to his stop. “Are you OK, Miss?”                                                                  

18.  Rick asked. She turned off her head and looked into his face. “Thanks for                 

19.  helping me,” she said, and smiled. “My name’s Lois.” “I’m Pack Baline.”  

20.  Suddenly, Lois must grasped Rick’s arm and said anxiously, “I’ve missed      

21.  my stop!” “Me too,” said Rick. They still got out at the next stop and     

22.  walked back. “Do you have a job? What do you do?” she have asked. “Oh, 

this and that,” replied Rick.  

 

 

 

 

 

 

 

 

1. _____the_________ 

2. ______0_________ 

3. ________________ 

4. ________________ 

5. ________________ 

6. ________________ 

7. ________________ 

8. ________________ 

9. ________________ 

10. _______________ 

11. _______________ 

12. _______________ 

13. _______________ 

14. _______________ 

15. _______________ 

16. _______________ 

17. _______________ 

18. _______________ 

19. _______________ 

20. _______________ 

21. _______________ 

22. _______________ 
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4. Ze čtyř možností vyberte jedinou správnou. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď NEBUDE hodnocena. 

Vaše 

odpověď 

 

1) Which US general was also elected president? 

a) Bill Clinton 

b) Richard Nixon 

c) Dwight Eisenhower  

d) Abraham Lincoln 

 

2) Brexit referendum in the UK took place in …  

a) 2014 

b) 2015 

c) 2016 

d) 2017 

 

3) Where is this quote from? “All children, except one, grow up.” 

a) Peter Pan by J.M. Barrie 

b) The Great Gatsby by F. Scott Fitzgerald 

c) Slaughterhouse-Five by Kurt Vonnegut 

d) The Catcher In The Rye by J.D. Salinger 

 

4) What is haggis? 

a) a traditional Scottish dish 

b) a traditional Scottish festival 

c) a traditional Scottish dance 

d) a traditional Scottish game  

 

5) What is known as the “backbone” of England?  

a) the Cheviot Hills 

b) the Cambrian Mountains 

c) the White Mountains 

d) the Pennine Chain 

 

6) Who is the patron saint of Scotland? 

a) St Patrick 

b) St David 

c) St George 

d) St Andrew 

 

7) The indigenous people of Australia are called … 

a) the Aborigines  

b) the Maoris 

c) the Indians 

d) the Eskimos 

 

8) Ground Zero is in … 

a) New York City 

b) Los Angeles 

c) Washington D.C. 

d) London 

1. ____ 

 

 

 
2. ____ 

 

 

 

 

3. ____ 

 

 

 
 

 

4. ____ 

 
 

 
 

 

5. ____ 
 

 

 

 

 

6. ____ 

 

 

 

 

7. ____ 

 

 

 

 

8. ____ 

 

 
 

 



Písemná část přijímací zkoušky z anglického jazyka varianta B 

Studijní program / obor: Cizí jazyky pro cestovní ruch – anglický jazyk 

 8 ze 15 

9) Winston Churchill got a Nobel Prize for ....  

a) peace 

b) literature 

c) economic sciences 

d) humanity 

 

10) Which of the names does NOT fit the list? 

a) Ebenezer Scrooge 

b) Jane Eyre 

c) Robert Louis Stevenson 

d) Lady Chatterley 

 

11) Which of the English kings lived in the 12th century? 

a) Richard III 

b) James I 

c) Henry II 

d) William III 

 

12) Which part of London is the heart of its business and commercial life?  

a) Chelsea 

b) Greenwich 

c) the City 

d) the West End 

 

13) Canada is made up of … 

a) states and districts 

b) counties and regions 

c) provinces and territories 

d) districts and provinces 

 

14) In Australia the British Monarch is represented by … at the federal level and by … at the 

state level. 

a) the Governor-General … administrators 

b) the Prime Minister … ministers of states 

c) the Governor-General … Governors 

d) the Chief Minister … state ministers 

 

15) What is the most populous city in Scotland? 

a) Edinburgh 

b) Liverpool 

c) Aberdeen 

d) Glasgow 

 

16) Which plant is Christmas in the UK mostly associated with? 

a) shamrock 

b) holly 

c) turnip 

d) red poppy 

 

 

9. ____ 

 

 

 

 

10. ____ 

 
 

 

 

11. ____ 

 

 

 
 

12. ____ 

 

 

 

 

13. ____ 

 

 

 
 

14. ____ 

 

 

 
 

15. ____ 

 

 

 

 

 

16. ____ 
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17) Which of the following works was NOT written by Shakespeare? 

a) The Merchant of Venice 

b) The Winter´s Tale 

c) The Beggar´s Opera 

d) Julius Caesar 

 

18) Which of the following authors is NOT primarily known as a poet? 

a) Allen Ginsberg  

b) Jonathan Swift 

c) W. B. Yeats 

d) Dylan Thomas 

 

19) Which of the following artists is/was Canadian? 

a) Whitney Houston 

b) Leonard Cohen 

c) Bono Vox 

d) Harry Styles 

 

20) Muhammad Ali was … 

a) an Irish film director 

b) a US boxer 

c) a British general 
d) an Australian musician 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

17. ____ 

 

 
 

 

18. ____ 

 

 
 

 

19. ____ 

 

 

 

 

20. ____ 
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2. Z daných možností vyberte správnou variantu. Písmeno správné odpovědi zaneste do  

sloupce vpravo ke správnému číslu. Jiná odpověď nebude hodnocena. 

60b 

 

 

1. Peter …a… driving his car after drinking three beers last night. It was a stupid decision. 

a) regrets          b) comprehends          c) appreciates          d) imagines 

 

2. What time is it? I have no …a… . 

a) idea          b) opinion          c) answer          d) fact 

 

3. I think Madonna is a very …c… singer, she is the best. 

a) terrified          b) annoying          c) talented          d) difficult 

 

4. I need to finish this book …b… Friday. 

a) about          b) by          c) in          d) from 

 

5. I always …c… milk in my coffee. 

a) mix          b) drink          c) have          d) make 

 

6. Diamonds are …d… , which is probably why they are valuable. 

a) broad          b) flexible          c) talented          d) rare 

 

7. His office is on the second …a… of the building. 

a) floor          b) level          c) ground          d) stage 

 

8. We are really stupid – we …c… off the train at the wrong station! 

a) took          b) put          c) got          d) stopped 

 

9. Julia and Jane are …a… twins. 

a) identical          b) same          c) similar          d) sisterly 

 

10. When it started to rain we went …b… a café and waited until it stopped. 

a) on          b) to          c) out          d) from 

 

11. I started learning Polish but then I had to …d… it up. I just did not have the time. 

a) stop          b) put          c) do          d) give 

 

12. The doctor gave me a …b… for some medicine yesterday. 

a) note          b) prescription          c) recipe          d) receipt 

 

13. I thought Sarah was being very …a… in the restaurant – insisting on ordering everything in 

Spanish. The waiter was from Manchester. 

a) pretentious          b) clumsy          c) impatient          d) sceptical 

 

14. Go …c… the petrol station, and it is the next turning on the right. 

a) left          b) right          c) past          d) back 

 

15. Skye is a beautiful island off the west …d… of Scotland. 

a) edge          b) beach          c) shore          d) coast 

 

  

 

1. A 

 
2. A 

 
3. C 

 

 

4. B 
 

 

5. C 
 

 

6. D 
 

 

7. A 
 

 

8. C 

 
 

9. A 
 

 

10. B 
 

 

11. D 
 

 

12. B 

 

13. A 
 

 
14. C 

 

 

15. D 
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16.  The …b… between the rich and poor countries of the whole world is increasing every day. 

a) space          b) gap          c) distance          d) interval 

 

17. Many people in African villages still know how to make boat out of tree …d…  . 

a) roots          b) branches          c) stems          d) trunks 

 

18. We will have to use the stairs because the lift is out of …c… . 

a) function          b) work          c) order          d) form 

 

19. Alice liked the jacket, but she did not buy it because it did not …c…. the dress she had 

already bought.  

a) suit          b) fit          c) match          d) go 

 

20. Only four people …d… the crash. Everyone else was killed. 

a) lived          b) recovered          c) overcame          d) survived 

  

21. In the morning they …d… down their tents, packed their backpacks and travelled home. 

a) broke          b) ran          c) let          d) pulled 

 

22. Our new neighbours were …d… not to disturb other neighbours after 11 p.m. 

a) appealed          b) postponed          c) delighted          d) requested 

 

23. This boy is sometimes aggressive and therefore only a few people get …c… with him. 

a) about          b) through          c) along          d) up 

 

24. Martin Luther King was one of the best-known leaders of the …b… rights movement. 

a) social          b) civil          c) effective          d) foreign 

 

25. We must not turn a …a… eye to the problems of our friends. We should try to help them. 

a) blind          b) big          c) deaf           d) dry 

 

26. That tall man …c… Peter sold his old car to is my colleague. 

a) whose          b) to whom          c) that          d) how 

 

27. Czech high schools offer a wide …c… of subjects. 

a) type          b) list          c) range          d) ladder 

 

28. It was difficult to remove my foot as it had stuck …d… in the mud. 

a) fairly          b) greatly          c) widely          d) firmly 

 

29. This industrial city is …a… for its air pollution. 

a) notorious          b) amazing          c) expressive          d) sensitive 

 

30. I like sitting …d… my new schoolmate because he always helps me with mathematics. 

a) besides          b) along          c) at          d) beside 

 

 

 

 

 

16. B 
 

 

17. D 
 

 

18. C 
 

 

19. C 
 

 

 

20. D 

 

 

21. D 
 

 

22. D 
 

 

23. C 
 

 

24. B 
 

 

25. A 
 

 

26. C 
 

 

27. C 
 

 

28. D 
 

 

29. A 
 

 

30. D 
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3. Přečtěte si pečlivě následující text. Některé řádky jsou bez chyby, v jiných je jedna chyba, protože 

obsahují jedno slovo navíc. Je-li řádek bez chyby, napište na patřičné místo vedle řádku nulu (0). 

Obsahuje-li řádek slovo, které tam nesmí být, napište tento výraz na patřičné místo vedle řádku a 

rovněž jej v textu PODTRHNĚTE. Řádky 1 a 2 jsou příklady.   

Roses and Guns (an extract) from As Time Goes By by Michael Walsh 
 
 

1.   Rick had first met Lois ten years earlier, on a summer day in the New                

2.   York, in 1931. He was on a train, riding from his mother’s apartment      

3.   to a downtown store which sold out her favourite Jewish food.  

4.   Rick lived alone and had a number one of jobs. Most of them were                 

5.   not quite legal and didn’t pay well. He dreamed out of running his own        

6.   club one day. Everything about nightlife was attractive to him. He             

7.   came to alive at night: he loved the music, the sound of glasses and          

8.   drinks being poured, the card of games, and the money! He didn’t speak         

9.   much. He wanted of other people to think he was a hard young man. But out                                               

10.  he travelled across the city every week to get his mother to something      

11.  special to eat on the weekend. Opposite him on the train was a very        

12.  pretty young woman, about eighteen of years old. She was the most        

13.  beautiful girl he had ever seen, with a long black hair and white  

14.  skin. It was even more hotter than usual that summer, and, as Rick was     

15.  looking at her, she fainted and fell on the floor. He jumped up to help her.             

16.  It was another kilometre before she opened her eyes. They were the most      

17.  beautiful eyes of pure blue. Rick forgot to his stop. “Are you OK, Miss?”                                                                  

18.  Rick asked. She turned off her head and looked into his face. “Thanks for                 

19.  helping me,” she said, and smiled. “My name’s Lois.” “I’m Pack Baline.”  

20.  Suddenly, Lois must grasped Rick’s arm and said anxiously, “I’ve missed      

21.  my stop!” “Me too,” said Rick. They still got out at the next stop and      

22.  walked back. “Do you have a job? What do you do?” she have asked. “Oh, 

this and that,” replied Rick.  

  

 

 

 

 

 

 

40 b. 

 

1. ______the________ 

2. ______0_________ 

3.  out 

4.  one 

5.  out 

6.  0 

7.  to 

8.  of  

9.  out 

10. to 

11. 0 

12. of   

13. a 

14. more 

15. 0 

16. 0  

17. to 

18. off 

19. 0  

20. must  

21.still   

22. have 
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4. Ze čtyř možností vyberte jedinou správnou. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď nebude hodnocena. 

40 b 

1) Which US general was also elected president? 

a) Bill Clinton 

b) Richard Nixon 

c) Dwight Eisenhower  
d) Abraham Lincoln 

 

2) Brexit referendum in the UK took place in …  

a) 2014 

b) 2015 

c) 2016 
d) 2017 

 

3) Where is this quote from? “All children, except one, grow up.” 

a) Peter Pan by J.M. Barrie 

b) The Great Gatsby by F. Scott Fitzgerald 

c) Slaughterhouse-Five by Kurt Vonnegut 

d) The Catcher In The Rye by J.D. Salinger 

 

4) What is haggis? 

a) a traditional Scottish dish 

b) a traditional Scottish festival 

c) a traditional Scottish dance 

d) a traditional Scottish game  

 

5) What is known as the “backbone” of England?  

a) the Cheviot Hills 

b) the Cambrian Mountains 

c) the White Mountains 

d) the Pennine Chain 

 

6) Who is the patron saint of Scotland? 

a) St Patrick 

b) St David 

c) St George 

d) St Andrew 

 

7) The indigenous people of Australia are called … 

a) the Aborigines  

b) the Maoris 

c) the Indians 

d) the Eskimos 

 

8) Ground Zero is in … 

a) New York City 

b) Los Angeles 

c) Washington D.C. 

d) London 

 

1. C 

 

 
 

 

2. C 

 

 
 

 

3. A 

 

 
 

 

 

4. A 

 

 

 

 

5. D 
 

 

 

 

 

 

6. D 

 

 

 

 

7. A 

 

 

 

 

8. A 
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9) Winston Churchill got a Nobel Prize for ....  

a) peace 

b) literature 
c) economic sciences 

d) humanity 

 

10) Which of the names does NOT fit the list? 

a) Ebenezer Scrooge 

b) Jane Eyre 

c) Robert Louis Stevenson 
d) Lady Chatterley 

 

11) Which of the English kings lived in the 12th century? 

a) Richard III 

b) James I 

c) Henry II 

d) William III 

 

12) Which part of London is the heart of its business and commercial life?  

a) Chelsea 

b) Greenwich 

c) the City 
d) the West End 

 

13) Canada is made up of … 

a) states and districts 

b) counties and regions 

c) provinces and territories 
d) districts and provinces 

 

14) In Australia the British Monarch is represented by … at the federal level and by … at the 

state level. 

a) the Governor-General … administrators 

b) the Prime Minister … ministers of states 

c) the Governor-General … Governors 
d) the Chief Minister … state ministers 

 

15) What is the most populous city in Scotland? 

a) Edinburgh 

b) Liverpool 

c) Aberdeen 

d) Glasgow 

 

16) Which plant is Christmas in the UK mostly associated with? 

a) shamrock 

b) holly 

c) turnip 

d) red poppy 

 

 

9. B 

 

 
 

 

 

10. C 
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17) Which of the following works was NOT written by Shakespeare? 

a) The Merchant of Venice 

b) The Winter´s Tale 

c) The Beggar´s Opera 

d) Julius Caesar 

 

18) Which of the following authors is NOT primarily known as a poet? 

a) Allen Ginsberg  

b) Jonathan Swift 

c) W. B. Yeats 

d) Dylan Thomas 

 

19) Which of the following artists is/was Canadian? 

a) Whitney Houston 

b) Leonard Cohen 

c) Bono Vox 

d) Harry Styles 

 

20) Muhammad Ali was … 

a) an Irish film director 

b) a US boxer 

c) a British general 

d) an Australian musician 
 

 

Bodové hodnocení: 

Část 1 

- Správná odpověď max. 3 body 

- Max. 60 bodů 

Část 2 

- Správná odpověď 2 body 

- Max. 60 bodů 

Část 3 

- Správná odpověď 2 body 

- Max. 40 bodů 

Část 4   

- Správná odpověď 2 body 

- Max. 40 bodů 

17. C 

 
 

 

 

 

18. B 
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